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A sells a scooter priced Rs. 36,000 . He gives a discount of 8% on the first
Rs 20000 and 5% on the next Rs. 10000. How much discount can he

afforded on the remaining Rs. 6000, if he is to get as much as when 7%
discount is allowed on the total ?
Ueh ATSHT Ueh Fehed derdl & , THeRT 5ol &. 36000 7, 318 Tget 20,000 U 8% hT BT AAT 77T 10,000

T 5% °hT P 5T E | 3H ITW 6000 T TR TavTd sht B 31 ATET dqTich 3H shed U 7% h1 B 34 W
UTH BT 8 2
1.5 2.6 I 4.8
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A person marks his goods x% above the cost price and allows a discount of 30% on the

marked price. If his profit is 5%, then the value of x will be:

Th ATk T HIA hl AT Hed | x% 3ITereh ifohd ohiaT § 3T siferd Tea t 30% Y
TE AT Bl AT IHRT ATH 5% &, @ x /T AF AT (CGL MAINS 2018)
(2)50 (b) 35 (c) 45 (d) 60
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Sujata marks an article 36% above the cost price and allows a 40% discount on the

marked price. The loss percentage is:

FHATAT Tk T T AT Tod A 36% ATeh o 3ifehd htd! g TR ifehd Tod uX 40% ht

DE JAT gl T TTaera 8:  (CGL MAINS 2018)
(a) 15 (b) 16.8 (¢) 4 (d) 18.4
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The marked price of an article is 800 and it is sold at a discount of 19%. If thereis a

ain of 8%, then by what percent above the cost price was the article marked?
2 y p p

Ueh ] T 3ifehe Hed 2800 T 3R 38 19% Y D¢ W 0T ST 21 TS 8% T AT BT 8,

AT & Sl ARG Hed | Teha Tiaota STferen sifehe ToRaT T o
(2) 33.33 (b)36.66 ()27 (d)35 (CGL MAINS 2018)




If the selling price of an article is 32% more than its cost price and the discount offered

on its marked price is 12%, then what is the ratio of its cost price to the marked price?

qf foreT T AT ThT o 38k sHT Tod W 32% 3Tk § 3R 30 Jifehd Tod W& I
ATAT BE 12% B, AV 30k el Hed T ifohd Hod | STTUATT FT 82
(@)3:8(b)4:5(c)1:2(d)2:3 (CGL MAINS 2018)




shopkeeper pays 12% of the cost price as tax while purchasing an item whose cost is

Rs 500. He wants to earn a profit of 20% after giving a discount of 16% on the marked

price. So, the marked price should be:

Teh SRR 500 TUY hi Teh S SIS T ST T <kl 12% T oh & H IA il
1 T 3HTha oI W 16% Y T I o TG 20% hT AT T heAT argar gl av, Fafga
UCFI@?TEI'I'%({

(2) 840 (b) 780 (c) 960 (d) 800 (CHSL 2019)
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The marked price of an article is 2500. If the shopkeeper offers two successive
discounts, each of x% on the MP is equal to a single discount of Rs 1056. If he offers
only one discount of x% on MP, what will be the new selling price of the article?

Teh o] <A1 3ifehd o 2500 1 TS RSN ST ShUTTd P el &, AT MP W x% hi Tcdieh
T 1056 TUY hT Thel TE o IR gl T(S T8 MP W x% hT HaeT Tk B T &, A1 & ol
=TT forsha e R g2

A)1800 B) 1750 C) 1900 D) 2150 (CHSL 2019)




An article is marked 35% above its cost. If a profit of 20% is earned by selllng

the article, then the discount percent offered on the marked price of the

article is:

Tk TET UR IThT AT © 35% atferen siferd #1 af og i seremt 20% 1 ors
AR TR SITaT 2, a7 o o oifeha Wod W &Y S et Be U9 e:
(2) 15% (b) 12% (c) 11.11 % (d) 10.01% (CHSL 2019)




The marked price of a shirt was 1800 rupees. A man bought the same shirt for 1200

rupees two getting two successive discounts. If the first discount was 12%, what was the

second discount rate?

Tk HHTS T 3ifha Ted 1800 TUX 2AT| Tk SATTh  IHT I Tl TMTAR &1 TE UTH A ok

g 1200 TUA W THET 3R | Al Tgell B 12% off, a1 SOt g 3 o ofr?
(a) 25.25% (b) 22.22% (c) 24.24% (d) 20.20% (CPO 2019)




After a discount of 15% on the purchase price of one item, its selling price is equal to

the selling price of another item after its discount of 25%. If the sum of the purchasing
prices of both goods is 640, find the selling price of each item.

Teh ] o 5hdl Tod W 15% shi BT oh S18, THhT folhdl Tod 25% hi B oh 918 ORI T%d h
forshar o o STeR 31 Afe ST TEqaT o shd ol T A1 640 7, AT Tedieh oT&d T (shd
Hed [T ShifTul

(a)340  (b)255  (c)280  (d) 250 (CPO 2019)




Marked price of an article is 20% more than it’s cost price. At what percent less should

it be sold for no profit and no loss?

T & hT Jifehd Hod 38k 7T Hed | 20% 312k g1 39 TomT o1 3R g1 <6 fohaw

TTA9Ta h A U =T AT A8 0?
(2) 14.28 % (b) 14.15 % (¢) 16.25% (d) 16.67%  (CHSL 2019)




An articles was marked at x rupees and sold at a discount of (x — 40)%. If the customer pald

(x-32) rupees, then find the marked price of the article.

Tk T W x SO TR ToRAT AT 3T (x - 40)% ST TE U T 4TI ATE TTEh o (x-32)
YT HT PIAT TRAT 7, AT T T 3 Tehd Ted [T hINTY)

(a) Rs 75 (b) Rs 60 (¢) Rs 80 (d) Rs 50 (CHSL 2019)




Ramesh sold one fourth of his article at 20% discount, one third of hls
articles at 15% discount and rest at 30% discount. Find the discount

percent he has given on whole lot?
THIT 9 37U 3cUTS Rl Ueh STAT3 T2FAT 20% T U, Ueh TdaTg [EHAT 15% B W AR I

30% e U o= TEAT| 38 O 3e4TE UR Toha TTaotd hi e & 82
1.22.5 2.20 3.17.5 4. NOT




The marked price of a shirt and trousers are in the ratio 1.: 2. The
shopkeeper gives 40% discount on the shirt. If the total discount on the

shirt and trousers is 30%, the discount offered on the trousers is :
Uk ITC AR UdeTd o SATehd Hod 1: 2 % 37791 H 21 FRTEN I1C W 40% R T 347 7| A3 91¢ AT

TTAT T A e 30% &, a1 el W 3 T AT B 2

1.20% 2.22.5%
3. 25% 4. 27.5%
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A article is sold at three successive discounts of 10%, 20% and 25%. If the selling
price of the article is Rs.2,592 then what is the marked price of the article?

Ueh aFd Pl 10%, 20% 3R 25% &I oPMAR I Tl W T 7T B
g a&q &1 TIhd Hed 2,592 TUY &, ol I&J &1 AHihd Hed AT 2
SSC Phase X, 04.08.2022, Shift 3

(a) Rs.5200 (b) Rs. 4800 (c) Rs. 4900 (d) Rs. 5000




y MISSION SSC 2023 /BTN L. LIV

What will be a single equivalent discount for successive discounts of 20%, 40%
and 75% on the marked price of an item?

ferel &g & 3iThd HAed W 20%, 40% AR 75% H RN Fe & fow
Uhdl HAJeT Te FAT B2

SSC CGL 25.05.2022, 2nd Shift

(a) 65% (b) 78% (c) 88% (d) 45%




A discount of 10% is offered on the price of an article if the payment is made online. An additional

discount of 5% is given to credit card holders. A person wishes to buy a watch priced at Rs 60,000

by paying online through credit card. How much does he need to pay (in Rs)?
AT AT HATATS TohaT SITAT & AT Teh o] <hl ShIHd WX 10% T TE & AT gl ThSE IS ARRT i

5% <Rt STk D¢ g1 ATAT 3| Teh S shisSc IS oh HTEAH H STHAATST WA Lok 60,000 T h
A ATet T TRGHT ATEAT Bl I8 FRAHAT ST i Y STTavaehaTl § (B9 H)?




A T 1000 box of cookies is offered at 10% discount and a 400 bar of chocolate at 8%

discount. If we buy 2 boxes of cookies and 3 bars of chocolate, what is the effective

discount we get (in % )?

Z 1000 % Heht ST W 10% T T 2400 Y TAThere T 8% Y Te & A1 & 31 Al ax

ShehIst oh 2 TR 3T TTeheie oh 3 TR @HIEd 8, 1 g8 ATH g1 JTeT THTET T (% W) FT

22 SSC T — 11 19.02.2017
(a) 7.48 (b) 9.25 (¢) 8.75 (d) 8.5




After allowing a discount of 10% on the marked price of an article. It is sold for X
360. Had the discount not been given, the profit would have been 25%. What is
the cost price of the article?

Ueh a¥g & fhd HeT W 10% A FE &1 & dIg| 37 I360 H =T
gd ol I @ & & S, o o 25% BAT| IE BT I Hed Fl
?

(@) X350 (b) X360 (c) X320 (d) X325







